



**ON THE DIOPHANTINE EQUATIONS $F_N = P_M \pm P_\ell$ AND
 $P_N = F_M \pm F_\ell$ INVOLVING FIBONACCI AND PELL NUMBERS**

Salah Eddine Rihane

The National Higher School of Mathematics, Sidi Abdellah, Algiers, Algeria.

salahrihane@hotmail.fr

Received: 3/12/22, Accepted: 10/16/22, Published: 11/4/22

Abstract

In this paper, we use Baker's method to find all the Fibonacci numbers which are sums or differences of two nonzero Pell numbers, and all Pell numbers which are sums or differences of two nonzero Fibonacci numbers, i.e., we solve the Diophantine equations appearing in the title of this paper.

1. Introduction

The Fibonacci sequence $(F_n)_{n \geq 0}$ and Pell sequence $(P_n)_{n \geq 0}$ are given by $F_0 = P_0 = 0$, $F_1 = P_1 = 1$ and

$$F_{n+2} = F_{n+1} + F_n \quad \text{and} \quad P_{n+2} = 2P_{n+1} + P_n \quad \text{for all } n \geq 0,$$

respectively. In [1], Alekseyev showed that the common terms between the sequences (F_n) and (P_n) are 0, 1, 2, 5. In [3], Ddamulira et al. find all the Fibonacci numbers which are the product of two Pell numbers and all Pell numbers which are the product of two Fibonacci numbers. This result was extended to the product of three such numbers in [6].

The goal of this paper is to find all the Fibonacci numbers that can be expressed as the sum or difference of two nonzero Pell numbers, and all the Pell numbers can be expressed as the sum or difference of two nonzero Fibonacci numbers. So, we will solve the following two Diophantine equations,

$$F_n = P_m \pm P_\ell \tag{1}$$

and

$$P_n = F_m \pm F_\ell, \tag{2}$$

where m, n and ℓ are positive integers.

The paper is organized as follows. In the next section, we introduce some necessary properties of Fibonacci and Pell numbers, a result due to Matveev concerning

a lower bound for a linear in logarithms of algebraic numbers, as well a variant of a reduction result due to de Weger. These results are useful for the proofs of our theorems. The last section is devoted to the proofs of our main results.

2. Preliminary Results

2.1. Some properties of Fibonacci and Pell numbers

Here, we recall a few important properties of the Fibonacci sequence $(F_n)_{n \geq 0}$ and Pell sequence $(P_n)_{n \geq 0}$. Let $(\alpha, \beta) = ((1 + \sqrt{5})/2, (1 - \sqrt{5})/2)$ be the roots of the characteristic equation $x^2 - x - 1 = 0$ of the Fibonacci sequence $(F_n)_{n \geq 0}$. Binet’s formula for F_n is

$$F_n = \frac{\alpha^n - \beta^n}{\sqrt{5}} \quad \text{for all } n \geq 0. \tag{3}$$

One can prove by induction that

$$\alpha^{n-2} \leq F_n \leq \alpha^{n-1} \tag{4}$$

holds for all $n \geq 1$.

On the other hand, let $(\gamma, \delta) = (1 + \sqrt{2}, 1 - \sqrt{2})$ be the roots of the characteristic equation $x^2 - 2x - 1 = 0$ of the Pell sequence $(P_n)_{n \geq 0}$. Binet’s formula for P_n is

$$P_n = \frac{\gamma^n - \delta^n}{\sqrt{2}} \quad \text{for all } n \geq 0. \tag{5}$$

One can prove by induction that

$$\gamma^{n-2} \leq P_n \leq \gamma^{n-1} \tag{6}$$

holds for all $n \geq 1$.

2.2. Linear Forms in Logarithms

The proof of our main theorem uses lower bounds for linear forms in logarithms of algebraic numbers and a version of the Baker-Davenport reduction method. So let us recall some results.

For any nonzero algebraic number η of degree d over \mathbb{Q} , whose minimal polynomial over \mathbb{Z} is $a \prod_{i=1}^d (X - \eta^{(i)})$ (with $a > 0$), we denote by

$$h(\eta) = \frac{1}{d} \left(\log a + \sum_{i=1}^d \log \max \left(1, \left| \eta^{(i)} \right| \right) \right)$$

the usual absolute logarithmic height of η . We recall the result of Bugeaud et al. ([2], Theorem 9.4), which is a modified version of the result of Matveev [5], which is one of our main tools in this paper.

Theorem 1. *Let η_1, \dots, η_s be real algebraic numbers and let b_1, \dots, b_s be integers. Let D be the degree of the number field $\mathbb{Q}(\eta_1, \dots, \eta_s)$ over \mathbb{Q} and let A_j be a positive real number satisfying*

$$A_j = \max\{Dh(\eta_j), |\log \eta_j|, 0.16\} \quad \text{for } j = 1, \dots, s.$$

Assume that

$$B \geq \max\{|b_1|, \dots, |b_s|\}.$$

If $\eta_1^{b_1} \cdots \eta_s^{b_s} - 1 \neq 0$, then

$$|\eta_1^{b_1} \cdots \eta_s^{b_s} - 1| \geq \exp(-1.4 \cdot 30^{s+3} \cdot s^{4.5} \cdot D^2(1 + \log D)(1 + \log B)A_1 \cdots A_s).$$

2.3. Reduction Method

In this section we discuss a computational method for reducing upper bounds for solutions of Diophantine equations. A different method is given in [4].

Let $\nu_1, \nu_2, \beta \in \mathbb{R}$ be given, and let $x_1, x_2 \in \mathbb{Z}$ be unknowns. Let

$$\Gamma = \beta + x_1\nu_1 + x_2\nu_2. \tag{7}$$

Let c and ρ be positive constants. Set $X = \max\{|x_1|, |x_2|\}$. Let X_0 be a (large) positive constant. Assume that

$$|\Gamma| \leq c \cdot \exp(-\rho \cdot Y), \tag{8}$$

$$Y \leq X \leq X_0. \tag{9}$$

When $\beta \neq 0$ in (7), put $\nu = -\nu_1/\nu_2$ and $\psi = \beta/\nu_2$. Then we have

$$\frac{\Gamma}{\nu_2} = \psi - x_1\nu + x_2.$$

Let p/q be a convergent of ν with $q > X_0$. For a real number x , we let $\|x\| = \min\{|x - n|, n \in \mathbb{Z}\}$ be the distance from x to the nearest integer. We have the following result.

Lemma 1 (See Lemma 3.3 in [8]). *Suppose that*

$$\|q\psi\| > \frac{2X_0}{q}.$$

Then, the solutions of (8) and (9) satisfy

$$Y < \frac{1}{\rho} \log \left(\frac{q^2 c}{|\nu_2| X_0} \right).$$

We conclude this section by recalling the following lemma that we need in the sequel.

Lemma 2. [8, Lemma 2.2] *Let $a, x \in \mathbb{R}$ and $0 < a < 1$. If $|x| < a$, then*

$$|\log(1+x)| < \frac{-\log(1-a)}{a}|x|$$

and

$$|x| < \frac{a}{1-e^{-a}}|e^x - 1|.$$

3. Main Theorems and Their Proofs

Theorem 2. *The solutions of the Diophantine equation (1) in positive integers n, m and ℓ with $m \geq \ell$ are given by*

$$(n, m, \ell) \in \{(1, 2, 1), (2, 2, 1), (4, 3, 2), (4, 2, 1), (7, 4, 1), (9, 5, 3), (16, 9, 2)\}.$$

Namely,

$$F_1 = F_2 = P_2 - P_1, \quad F_4 = P_3 - P_2,$$

and

$$F_4 = P_2 + P_1, \quad F_7 = P_4 + P_1, \quad F_9 = P_5 + P_3, \quad F_{16} = P_9 + P_2.$$

Proof. Assume throughout that Equation (1) holds. Observe that if $\ell = m$, then Equation (1) becomes $F_n = 0$ or $F_n = 2P_m = P_{m+1} - P_{m-1}$, so we can assume that $m > \ell$.

For $1 \leq \ell < m \leq 100$, a search with *Maple* in this range gave only the solutions displayed in the statement of Theorem 2. Thus, throughout the remainder of the proof, we shall suppose that $m > 100$.

By using the estimates (4) and (6), we have

$$\alpha^{n-2} \leq F_n = P_m \pm P_\ell \leq 2P_m \leq \gamma^m,$$

from which it follows that $n < 2m$ because $m > 100$. Therefore, it suffices to bound m . To get this bound, we examine Equation (1) in two different ways.

Binet's formulas Equation (3) and Equation (5) enable us to express Equation (1) as

$$\frac{\alpha^n}{\sqrt{5}} - \frac{\gamma^m}{2\sqrt{2}} = \frac{\beta^n}{\sqrt{5}} - \frac{\delta^m}{2\sqrt{2}} \pm P_\ell,$$

which yields

$$\left| \frac{\alpha^n}{\sqrt{5}} - \frac{\gamma^m}{2\sqrt{2}} \right| \leq \gamma^{\ell-1} + 0.81.$$

Now, we multiply through by $2\sqrt{2}\gamma^{-m}$ to arrive at

$$\left| \sqrt{\frac{8}{5}}\alpha^n\gamma^{-m} - 1 \right| < 2\sqrt{2}\gamma^{\ell-m}(\gamma^{-1} + 0.81\gamma^{-\ell}) < \frac{2.2}{\gamma^{m-\ell}}. \tag{10}$$

To get an upper bound for the left-hand side of inequality (10), we set in Theorem 1:

$$s := 3, \quad (\eta_1, b_1) := \left(\sqrt{\frac{8}{5}}, 1 \right), \quad (\eta_2, b_2) := (\alpha, n), \quad \text{and} \quad (\eta_3, b_3) := (\gamma, -m).$$

Thus, we have

$$\Gamma_1 := \sqrt{\frac{8}{5}} \alpha^n \gamma^{-m} - 1. \tag{11}$$

Clearly $\eta_1, \eta_2, \eta_3 \in \mathbb{L} := \mathbb{Q}(\sqrt{2}, \sqrt{5})$, and $d_{\mathbb{L}} = 4$. Further, one can easily see that

$$h(\eta_1) = \frac{\log 8}{2}, \quad h(\eta_2) = \frac{\log \alpha}{2} \quad \text{and} \quad h(\eta_3) = \frac{\log \gamma}{2},$$

so, we choose

$$A_1 := 2 \log 8 = \max\{4h(\eta_1), |\log \eta_1|, 0.16\},$$

$$A_2 := 2 \log \alpha = \max\{4h(\eta_2), |\log \eta_2|, 0.16\},$$

and

$$A_3 := 2 \log \gamma = \max\{4h(\eta_3), |\log \eta_3|, 0.16\}.$$

Finally, we can take $D := 2m > \max\{1, n, m\}$. We next show that Γ_1 is nonzero.

Suppose that $\Gamma_1 = 0$. Then we get $\alpha^n \gamma^{-m} = \sqrt{\frac{8}{5}}$. However, the left-hand side of the above relation is a unit in \mathbb{L} , whereas the right-hand side is not as its norm over \mathbb{L} is $\frac{64}{25}$. So, $\Gamma_1 \neq 0$. Applying Theorem 1 gives

$$\log |\Gamma_1| > -1.4 \times 30^6 \times 3^{4.5} \times 4^2 (1 + \log 4) (1 + \log(2m)) (2 \log \alpha) (2 \log \gamma) (2 \log 8).$$

The above inequality together with inequality (10) tell us

$$(m - \ell) \log \gamma < 5.3 \times 10^{10} (1 + \log(2m)). \tag{12}$$

Returning to Equation (1), we reorganize it as

$$\frac{\alpha^n}{\sqrt{5}} - \frac{\gamma^m \mp \gamma^\ell}{2\sqrt{2}} = \frac{\beta^n}{\sqrt{5}} - \frac{\delta^m \mp \delta^\ell}{2\sqrt{2}}.$$

Consequently, we get

$$\left| \frac{\alpha^n}{\sqrt{5}} - \frac{\gamma^m (1 \mp \gamma^{\ell-m})}{2\sqrt{2}} \right| < 1.2.$$

Multiplying through by $2\sqrt{2}\gamma^{-m}(1 \mp \gamma^{\ell-m})^{-1}$, we obtain

$$\left| \sqrt{\frac{8}{5}} (1 \mp \gamma^{\ell-m})^{-1} \alpha^n \gamma^{-m} - 1 \right| < \frac{1.2 \times 2\sqrt{2} (1 \mp \gamma^{\ell-m})^{-1}}{\gamma^m} < \frac{6}{\gamma^m}, \tag{13}$$

where we have used the fact that $(1 \mp \gamma^{\ell-m})^{-1} < 1.71$. Now, we will again apply Theorem 1, but this time we take

$$\Gamma_2 := \sqrt{\frac{8}{5}} (1 \mp \gamma^{\ell-m})^{-1} \alpha^n \gamma^{-m} - 1, \tag{14}$$

with $s := 3$,

$$(\eta_1, b_1) := \left(\sqrt{\frac{8}{5}} (1 \mp \gamma^{\ell-m})^{-1}, 1 \right), \quad (\eta_2, b_2) := (\alpha, n), \quad \text{and} \quad (\eta_3, b_3) := (\gamma, -m).$$

We again take $\mathbb{L} = \mathbb{Q}(\sqrt{2}, \sqrt{5})$, for which $d_{\mathbb{L}} = 4$. As before we can choose

$$A_2 = 2 \log \alpha \quad \text{and} \quad A_3 = 2 \log \gamma.$$

Let us estimate A_1 . To get this estimate, we need to find the maximum of the quantities $h(\eta_1)$ and $|\log \eta_1|$. By the properties of the absolute logarithmic height, we have

$$h(\eta_1) \leq h(\sqrt{8/5}) + (m - \ell)h(\gamma) + \log 2 = \log(4\sqrt{2}) + \frac{(m - \ell) \log \gamma}{2},$$

and by using inequality (12), we deduce that

$$h(\eta_1) < 2.7 \times 10^{10}(1 + \log(2m)). \tag{15}$$

On the other hand, we have

$$\eta_1 = \sqrt{\frac{8}{5}} (1 \mp \gamma^{\ell-m})^{-1} < 2.2 \quad \text{and} \quad \eta_1^{-1} = \sqrt{\frac{5}{8}} (1 \mp \gamma^{\ell-m}) < 1.2. \tag{16}$$

Therefore, by inequalities (15) and (16), we get

$$A_1 := 1.1 \times 10^{11} (1 + \log(2m)) > \max\{4h(\eta_1), |\log \eta_1|, 0.16\}.$$

Finally, we can take $D = 2m$. One justifies that $\Gamma_2 \neq 0$ by using a similar argument used to show that $\Gamma_1 \neq 0$. Theorem 1 leads to

$$\log |\Gamma_2| > -1.4 \times 10^{21}(1 + \log(2m))^2.$$

Putting together the last inequality and inequality (13) yields

$$m < 1.6 \times 10^{21} (1 + \log(2m))^2.$$

Thus, we conclude that

$$m < 5.6 \times 10^{24}. \tag{17}$$

The obtained upper bound (17) is too large. Next, we will reduce it by using Lemma 1. Let

$$\Lambda_1 := n \log \alpha - m \log \gamma + \log \left(\sqrt{8/5} \right) = \log (\Gamma_1 + 1),$$

where Γ_1 is defined by (11). Since $m - \ell \geq 1$, from inequality (10) we obtain $|\Gamma_1| < 0.92$. So, by taking $a := 0.92$ and $x := \Gamma_1$ in Lemma 2, we get

$$\left| n \log \alpha - m \log \gamma + \log \left(\sqrt{8/5} \right) \right| < 6.1 \exp(-0.88 \cdot (m - \ell)).$$

We apply Lemma 1 with the data

$$c := 6.1, \quad \rho := 0.88, \quad X_0 := 1.12 \times 10^{25}, \quad \psi := -\frac{\log(\sqrt{8/5})}{\log \gamma},$$

$$\nu := \frac{\log \alpha}{\log \gamma}, \quad \nu_1 := \log \alpha, \quad \nu_2 := -\log \gamma, \quad \beta := \log(\sqrt{8/5}).$$

Let

$$\frac{p}{q} := \frac{36451004200413739287256001}{66762599440701204888214325}$$

be the 55th convergent of ν . With this choice the hypotheses of Lemma 1 are satisfied. Furthermore, Lemma 1 tells us that

$$m - \ell \leq \frac{1}{0.88} \cdot \log \left(\frac{66762599440701204888214325^2 \times 6.1}{\log \gamma \times 1.12 \times 10^{25}} \right) \leq 72.$$

Taking $m - \ell \leq 72$, we let

$$\Lambda_2 := n \log \alpha - m \log \gamma + \log \left(\sqrt{8/5} (1 \mp \gamma^{\ell-m})^{-1} \right) = \log (\Gamma_2 + 1).$$

Since $m \geq 100$, then by inequalities (14) and (13), we have $|\Gamma_2| < 0.01$. Thus, by applying Lemma 2 with $a := 0.01$ and $x := \Gamma_2$ we obtain

$$\left| n \log \alpha - m \log \gamma + \log \left(\sqrt{8/5} (1 \mp \gamma^{\ell-m})^{-1} \right) \right| < 6.1 \exp(-0.88 \cdot m).$$

We apply Lemma 1 with the data

$$c := 6.1, \quad \rho := 0.88, \quad X_0 := 1.12 \times 10^{25}, \quad \nu := \frac{\log \alpha}{\log \gamma}, \quad \nu_1 := -\log \alpha, \quad \nu_2 := \log \gamma,$$

$$\psi_k := \frac{\log \left(\sqrt{8/5} (1 \mp \gamma^{-k})^{-1} \right)}{\log \gamma}, \quad \beta_k := \log \left(\sqrt{8/5} (1 \mp \gamma^{-k})^{-1} \right), \quad k = 1, \dots, 72.$$

We find that

$$\frac{p}{q} := \frac{1382144685309391596913895831}{2531496018245707230917451088}$$

the 59 convergent satisfies the hypotheses of Lemma 1 for $k = 1, \dots, 72$. Applying Lemma 1 we get

$$m \leq \frac{1}{0.88} \cdot \log \left(\frac{2531496018245707230917451088^2 \times 6.1}{\log \gamma \times 1.12 \times 10^{25}} \right) \leq 81,$$

which is a contradiction. Therefore, the proof of Theorem 2 is complete. \square

Theorem 3. *The solutions of the Diophantine equation (1) in positive integers n, m and ℓ with $m \geq \ell$ are given by*

$$(n, m, \ell) \in \{(1, 3, 1), (1, 3, 2), (1, 4, 3), (2, 4, 1), (2, 4, 2), (2, 5, 3), (3, 6, 4), (3, 7, 6), (4, 7, 1), (4, 7, 2), (5, 9, 5), (9, 16, 3), (2, 2, 1), (3, 4, 3), (5, 8, 6)\}.$$

Namely,

$$\begin{aligned} P_1 &= F_3 - F_1 = F_3 - F_2 = F_4 - F_3, & P_2 &= F_4 - F_1 = F_4 - F_2 = F_5 - F_3, \\ P_3 &= F_6 - F_4 = F_7 - F_6, & P_4 &= F_7 - F_1 = F_7 - F_2, \\ P_5 &= F_9 - F_5 & P_9 &= F_{16} - F_3, \end{aligned}$$

and

$$P_2 = F_2 + F_1, \quad P_3 = F_4 + F_3, \quad P_5 = F_8 + F_6.$$

Proof. Assume throughout that Equation (2) holds. Observe that if $\ell = m$, then Equation (2) becomes $P_n = 0$ or $P_n = 2F_m = F_{m+1} + F_{m-2}$, so we can assume that $m > \ell$.

A brute force search with **Maple** in the range $1 \leq \ell < m \leq 200$ gives the solution given in Theorem 3. Thus, for the rest of the proof we assume that $m > 200$.

The inequalities (4) and (6), imply

$$\gamma^{n-2} \leq P_n = F_m \pm F_\ell \leq 2F_m \leq \alpha^{m+1},$$

and since $m > 200$, we get $n < m$. So, it suffices to bound m . To get this bound, we examine Equation (2) in two different ways.

By Binet's formulas Equation (3) and Equation (5), the Equation (2) can be expressed in the form

$$\frac{\gamma^n}{2\sqrt{2}} - \frac{\alpha^m}{\sqrt{5}} = \frac{\delta^n}{2\sqrt{2}} - \frac{\beta^m}{\sqrt{5}} \pm F_\ell.$$

It follows that

$$\left| \frac{\gamma^n}{2\sqrt{2}} - \frac{\alpha^m}{\sqrt{5}} \right| \leq \alpha^{\ell-1} + 0.81.$$

Multiplying through by $\sqrt{5}\alpha^{-m}$, we get

$$\left| \sqrt{\frac{5}{8}}\gamma^n\alpha^{-m} - 1 \right| < \sqrt{5}\alpha^{\ell-m}(\alpha^{-1} + 0.81\alpha^{-\ell}) < \frac{2.6}{\alpha^{m-\ell}}. \tag{18}$$

In order to apply Theorem 1, we take

$$\Gamma_3 := \sqrt{\frac{5}{8}}\gamma^n\alpha^{-m} - 1, \tag{19}$$

and

$$s := 3, \quad (\eta_1, b_1) := \left(\sqrt{\frac{5}{8}}, 1\right), \quad (\eta_2, b_2) := (\gamma, n), \quad (\eta_3, b_3) := (\alpha, -m).$$

We have $\eta_1, \eta_2, \eta_3 \in \mathbb{L} := \mathbb{Q}(\sqrt{2}, \sqrt{5})$, so $d_{\mathbb{L}} = 4$. Since

$$h(\eta_1) = \frac{\log 8}{2}, \quad h(\eta_2) = \frac{\log \gamma}{2}, \quad \text{and} \quad h(\eta_3) = \frac{\log \alpha}{2},$$

then, we take

$$A_1 := 2 \log 8 = \max\{4h(\eta_1), |\log \eta_1|, 0.16\},$$

$$A_2 := 2 \log \gamma = \max\{4h(\eta_2), |\log \eta_2|, 0.16\},$$

and

$$A_3 := 2 \log \alpha = \max\{4h(\eta_3), |\log \eta_3|, 0.16\}.$$

Finally, we can take $D := m > \max\{1, n, m\}$. Note that $\Gamma_3 \neq 0$, since if we assume the contrary, we would obtain that $\gamma^n\alpha^{-m} = \sqrt{\frac{5}{8}}$. But, the left-hand side of the above relation is a unit in \mathbb{L} , whereas the right-hand side is not as its norm over \mathbb{L} is $\frac{25}{64}$. Thus, $\Gamma_3 \neq 0$. By applying Theorem 1 to Γ_3 we get

$$\log |\Gamma_3| > -1.4 \times 30^6 \times 3^{4.5} \times 4^2(1 + \log 4)(1 + \log m)(2 \log \alpha)(2 \log \gamma)(2 \log 8).$$

Using the above inequality and inequality (18), we obtain

$$(m - \ell) \log \alpha < 5.3 \times 10^{10}(1 + \log m). \tag{20}$$

Returning to Equation (2) and rewrite it in the form

$$\frac{\gamma^n}{2\sqrt{2}} - \frac{\alpha^m \mp \alpha^\ell}{\sqrt{5}} = \frac{\delta^n}{2\sqrt{2}} - \frac{\beta^m \pm \beta^\ell}{\sqrt{5}},$$

which leads us to

$$\left| \frac{\gamma^n}{2\sqrt{2}} - \frac{\alpha^m (1 \mp \alpha^{\ell-m})}{\sqrt{5}} \right| < 1.3.$$

Multiplying both sides of the above inequality by $\sqrt{5}\alpha^{-m}(1 \mp \alpha^{\ell-m})^{-1}$ and using the fact that $(1 \mp \alpha^{\ell-m})^{-1} < 2.62$ give

$$|\Gamma_4| < \frac{1.3 \times \sqrt{5} (1 \mp \alpha^{\ell-m})^{-1}}{\alpha^m} < \frac{7.7}{\alpha^m}, \tag{21}$$

where

$$\Gamma_4 := \sqrt{\frac{5}{8}} (1 \mp \alpha^{\ell-m})^{-1} \gamma^n \alpha^{-m} - 1. \tag{22}$$

Now we will apply Theorem 1 on Γ_4 by choosing $s := 3$,

$$(\eta_1, b_1) := \left(\sqrt{\frac{5}{8}} (1 \mp \alpha^{\ell-m})^{-1}, 1 \right), \quad (\eta_2, b_2) := (\gamma, n), \quad \text{and} \quad (\eta_3, b_3) := (\alpha, -m).$$

We again take $\mathbb{L} = \mathbb{Q}(\sqrt{2}, \sqrt{5})$, and $d_{\mathbb{L}} = 4$. As before, we can take

$$A_2 = 2 \log \alpha \quad \text{and} \quad A_3 = 2 \log \gamma.$$

Let us estimate $h(\eta_1)$. By the properties of the absolute logarithmic height, we have

$$h(\eta_1) \leq h(\sqrt{5/8}) + (m - \ell)h(\alpha) + \log 2 = \log(4\sqrt{2}) + \frac{(m - \ell) \log \alpha}{2}.$$

Thus, by inequality (20), we deduce that

$$h(\eta_1) < 2.7 \times 10^{10}(1 + \log m). \tag{23}$$

In addition, we have

$$\eta_1 = \sqrt{\frac{5}{8}} (1 \mp \alpha^{\ell-m})^{-1} < 2.1 \quad \text{and} \quad \eta_1^{-1} = \sqrt{\frac{8}{5}} (1 \mp \alpha^{\ell-m}) < 2.1. \tag{24}$$

Therefore, by inequalities (23) and (24), we get

$$A_1 := 1.1 \times 10^{11} (1 + \log m) > \max\{4h(\eta_1), |\log \eta_1|, 0.16\}.$$

Finally, we can take $D = m$. Using a similar argument used to prove that $\Gamma_3 \neq 0$, we can show that $\Gamma_4 \neq 0$. Theorem 1 gives

$$\log |\Gamma_2| > -1.4 \times 10^{21}(1 + \log m)^2.$$

Now, we combine the last inequality with inequality (21) to get

$$m < 3 \times 10^{21} (1 + \log m)^2,$$

which gives

$$m < 1.1 \times 10^{25}. \tag{25}$$

Now, we will use Lemma 1 to lower the obtained bound (25). Let

$$\Lambda_3 := n \log \gamma - m \log \alpha + \log \left(\sqrt{5/8} \right) = \log (\Gamma_3 + 1),$$

where Γ_3 is defined by Equation (19). Assume that $m - \ell \geq 1$. Then using inequality (18), we have $|\Gamma_3| < 0.45$. Applying Lemma 2 by taking $a := 0.45$ and $x := \Gamma_3$ one gets

$$\left| n \log \gamma - m \log \alpha + \log \left(\sqrt{5/8} \right) \right| < 3.5 \exp(-0.48 \cdot (m - \ell)).$$

We apply Lemma 1 with the data

$$c := 3.5, \quad \rho := 0.48, \quad X_0 := 1.1 \times 10^{25}, \quad \psi := -\frac{\log(\sqrt{5/8})}{\log \gamma},$$

$$\nu := \frac{\log \alpha}{\log \gamma}, \quad \nu_1 := -\log \alpha, \quad \nu_2 := \log \gamma, \quad \beta := \log(\sqrt{5/8}).$$

Let

$$\frac{p}{q} := \frac{36451004200413739287256001}{66762599440701204888214325}$$

be the 55th convergent of ν . With this choice the hypotheses of Lemma 1 are satisfied. Furthermore, Lemma 1 gives that

$$m - \ell \leq \frac{1}{0.48} \cdot \log \left(\frac{66762599440701204888214325^2 \times 3.5}{\log \gamma \times 1.1 \times 10^{25}} \right) \leq 130.$$

Taking $1 \leq m - \ell \leq 130$, we let

$$\Lambda_4 := n \log \gamma - m \log \alpha + \log \left(\sqrt{5/8} (1 \mp \alpha^{\ell-m})^{-1} \right) = \log(\Gamma_4 + 1).$$

Since $m \geq 200$, then by inequalities (22) and (21), we have $|\Gamma_2| < 0.01$. Hence, by choosing $a := 0.01$ and $x := \Lambda_4$ in Lemma 2, we obtain

$$\left| n \log \gamma - m \log \alpha + \log \left(\sqrt{5/8} (1 \mp \alpha^{\ell-m})^{-1} \right) \right| < 7.8 \exp(-0.48 \cdot m).$$

Now, we apply Lemma 1 by taking $c := 7.8$,

$$\rho := 0.48, \quad X_0 := 1.1 \times 10^{25}, \quad \psi_k := \frac{\log \left(\sqrt{5/8} (1 \mp \alpha^{-k})^{-1} \right)}{\log \gamma}, \quad k = 1, \dots, 72,$$

$$\nu := \frac{\log \alpha}{\log \gamma}, \quad \nu_1 := -\log \alpha, \quad \nu_2 := \log \gamma, \quad \beta_k := \log \left(\sqrt{8/5} (1 \mp \alpha^{-k})^{-1} \right).$$

We find that the 60th convergent

$$\frac{p}{q} := \frac{7120557147040678711841828052}{13041805432540129482044692967}$$

satisfies the hypotheses of Lemma 1 for $k = 1, \dots, 130$. Applying Lemma 1 we get

$$m \leq \frac{1}{0.48} \cdot \log \left(\frac{13041805432540129482044692967^2 \times 7.8}{\log \gamma \times 1.1 \times 10^{25}} \right) < 154,$$

which is a contradiction. Therefore, the proof of Theorem 3 is complete. □

Acknowledgements. We thank the referee for comments which improved the quality of this paper.

References

- [1] M. A. Alekseyev, On the Intersection of Fibonacci, Pell, and Lucas Numbers, *Integers* **11** (2011), 239-259.
- [2] Y. Bugeaud, M. Mignotte, and S. Siksek, Classical and modular approaches to exponential Diophantine equations I. Fibonacci and Lucas perfect powers, *Ann. Math.* **163.2** (2006), 969-1018.
- [3] M. Ddamulira, F. Luca, and M. Rakotomalala, Fibonacci numbers which are products of two Pell numbers, *Fibonacci Quart.* **54.1** (2016), 11-18.
- [4] A. Dujella and A. Pethő, A generalization of a theorem of Baker and Davenport, *Quart. J. Math. Oxford Ser. (2)* **49** (1998), 291-306.
- [5] E. M. Matveev, An explicit lower bound for a homogeneous rational linear form in the logarithms of algebraic numbers II, *Izv. Math.* **64.6** (2000), 1217-1269.
- [6] S. E. Rihane, Y. Akrouf, and A. El Habibi, Fibonacci numbers which are products of three Pell numbers and Pell numbers which are products of three Fibonacci numbers, *Bol. Soc. Mat. Mex.* **26** (2020), 895-910.
- [7] N. J. A. Sloane et al., *The On-Line Encyclopedia of Integer Sequences*, 2019. Available at <https://oeis.org>.
- [8] B. M. M. de Weger, *Algorithms for Diophantine Equations*, PhD thesis, Eindhoven University of Technology, Eindhoven, the Netherlands, 1989.